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1. - is a market in which there is no real competition in the economic group.-------- TEUTST 3T
SR Y S 3N TTeTd guidn A& T 19 .
a. Perfect Competition Ut Tag b. MonopolyHexier
~ c. Monopoly competition Heriargart i d. oligopoly TeaTiEeht
2. Long-term is the period in which an industry organization can make changes in both the cost
and ------------ EdhIes Ul ST FHIBTA SIS --------- 31110 ST 313 Svgt Ueh=AT @Hid 983
YT Al
a. Constantf@R b. total T
¢. averaged & d. Marginal §Hr=
3. In perfect competltlon, the firon's long-term equlhbnum point is ------------ the same. qoiaea
., - b. Average cost and marginal cost T @9
a Prlceﬁﬂ?f P o
c. Average Revenue and Marginal Revenue SRIa{ Wreit
U d. All of the above @ ¥4
4. The lack of -------—--- means monopoly. ------------- STHTE US| HekigRl .
a. Of competition¥e=n b. Price warferHaggren
c. Of customersuTga =l d. All of the abovea{@ ¥d
5. The entry of new enterprises into the monopoly market i ------------ RIS SASTRIA =1
SN WA -~ arHl.
a. Impossible but difficul t31=Ter= 9o STH9S b. Possible but simpleZr& ToT FHT
¢. Impossible3Re d. Quite simpledrar
6. In a monopoly, the marginal revenue curve is on the side of the ----------- average revenue curve.
Taere G UTdiash Al T Iaeh=AT ——--m--m--m- SIS 3TTdl.
a. Lowerd@re=An b. Topa{=at
c. FrontaHIc=A1 d. BackwardsUTSHIT=AT
7. Monopoly is a ------------- comple control. HFIGRE ----------- qof T e,
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i 1 foosid b. On the consumption of goods F&I=AT ;w
a. On the supply of goodsT&T=AT RIS s :
c. On product advertising@&I=aT SETcIer d. None of thisaraet gt

8. In a monopoly market the cross elasticing of demand for a commanding is --------——---- . e
ASTRTA ST ARTUfE T Safehal ---mmmmmmmmmev 3.

a. oneUsh b. zero=

c. More than oneUaTd & ST * d. Less than oneUsTa&r &t

9. When there is a --------—--- in the market, a monopoly is found in the market. SisgT STSIRTA
------------ 3Tl dogT AR HaigRI 2M@a Ad.

a. Many sellers ¥R faead b. Limited sellermaifea fasmar

c. Single sellerger= farar d. Zero seller3[ foshar

{0 AR e This is a type of monopoly market, --------------- BT HeRiGR] ISTRTET 9K 21TR.

a. Private monopoly@rsiil HerigrRt b. Public monopoly QTsTi-e Haxigrt U
c. Legal monopoly FTAER Aerigrt d. All of the aboves{ia ¥d

11. . In a monopoly ---------- the demand curve is deseending from the top to the bottom.AsiaRKAS
HTTUltesh &1 T00T WIS SATITRT TgUTST —-mmmmmm e SARTAT 2Tl

a. Positive"eTd s b. NegativeZBullcHesn

c. Vertical3y1 &« . d. Parallel&#Hicy

12. In a monopoly producer is a ----------- B2 L ST | - — 3.

a. Price takerfsad WarRomT b. Price makerferaa Xfeomy

c. Aand Ba for g d. None of thisardes! e

13. Ina mﬁﬁc;pqu consumer surplus is ----------- . ASIERITe STHRTET YarSTae —----—-—- 37,
a. MoreSTRdiasted b. LesssHId sHT U
c. Zero= d. Constantf&r

14'.' Selling the samecommoding to different customers at defferent prices means ------------- .U
T AT ATEHIAT NTATTAT feh ST Teh0l TR ——mmmeeme .

a. Product Disorininationa¥gag b. Wage Disorininationadddg

c. Value DisorininationJed¥g d. Perfect competitionguiEagt

15. Prfo. A. C. Pigu categorized the value discrimincetion in the ----------- group. UT. T. . fouy =i+t
B R T e 11 - — TeTd %o, UIE

a. oneUsh b. Twoga

c. ThreediH d. FourdrR

16. The monopolist charges the --------—---- priée more than the marginal cost. AaRER HHr
LSl Lot E— [EZ:ECICaTGIR

a. MoreST&d b. LessaHl
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cf@onstantf@ﬁ : d. None of thisard! et
17. The productivity of the monopoly industry organization is used -----------HeRIGRI SRR
SATEAGHAT -~ AT S .
a. ImperfectaTqo b. Perfectqui
c. A and b3t 3nfor g d. None of thisardehl A&t
18. In monopoly is the ------------ of production capacing to some extent. HaIGRI shlg THTII
a. ProfitT& b. Lossdler
c. exessaTedl d. None of thisardest ATgt
19. The concept of imperfect competition was introduced in 1933 by ----------- : amgf T g Yehed =TT
LEER: |2 (— il AigHl.
a. Prof. Chamberlain 9. ZeRfe b. Dr. MarshallT. Azi&
O c. Mrs. Shawbinmani#eit At d. Shrafs®

30f3

20. .........is a market that is a mixture of competition and monoloply.quieast & werigRt i fAsor
STHUTRT TSI FGUTS ~---==-==--~ B

a. Perfect competitionqoiedsi b. Pure monopoly & AaISI
c. Imperofect competition3qul T d. Value disorimination7edd 9 TR

; s N
21. Sellers are -4 - in imperfect competition. 30t ¥ fashdt ----------—- AT ‘
a: Mostof 2% b. Unlimitedsmaifed :

c. Insignificant10d d. Limitedwaifea ‘ —— .;(E@‘/
22. . Sales codPnd ——————— are important features of imperfect competition. fehlas &
- 1 37T TR R G&TO 3R
a. Price disoriminationTed g b. Product disoriminations&j g
c. AdvertisementSiTigdrd d. None of thisardesl =gt
23. Dupoly market has called ---------- ISR - TGl UK.

a. Oligopoly3TeaTfaIs b. short marketaTeasharieenR

c. Dupoly Marketfgfashariasi d. None of thisardeh gt

24. Oligopoly & dupoly are types of --——--—----- JTCATUHR T GATADR § ---------——— TR 3.

a. Incomplete competitionaqof T b. Perfect competitiondut Toe=

c. MonopolyFeRigri= d. value disoriminationHeaHa=

25. When the change in price and the change in demand are the same then the elasticity of
demand are ---------- fFudidio 9ee 9 Arviidle 950 & REY STHard dogl ATV Saieend -----------
7.

a. EqualUseh b. Flexiblewaf<eh

c. Stiffaret d. Non-fexiable3taafeen
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